arcsec

arcsec

2

A

2](degrees)

o[m

V (km/s)

30

20

10

o o o
D W A

o O
o 4

100
50

-50
100

80

PGC 045824

-40 -20 0 20 40
arcsec
‘:TH‘HHHH\‘HHH\H‘HHH \\\\\\\ HHH‘\HHHH‘HHH\H‘HE
-30 -20 -10 0 10 20 30
arcsec

0

- o ]
: | -
B : Mbar ]
L I + ]
C ! ]
y ++++++++:++++++++ ]
C ! + ]
o+ | + ]
0 3} 10 15 20 25 30
Radius (arcsec)

| Vv i
| Vhalo B
L \/36un1 i
f v |

rbar

10 20 30 40
Radius (arcsec)

0.50

0.38

0.25

10.12

-0.25

-0.38

-0.50

&)
O
)
o
«©
-40 -20 0 20 40
arcsec
T T T T T T T T T T T T ‘ T I\ T T T T T T T T T T T T T T L
| h= 1.7"
| _
! h= 22"
0.6 | f
| h,= 4.0"
| j
|
| j
: Mbar |
|
0.4 ! -
— [
@) ! 1
|
|
|
0.2 |
|
|
|
|
|
|
|
0-0 | | | | ‘ | | | | ‘ | | | | ‘ L | | ‘ | | | | ‘ | | | | ‘ |
0 3} 10 15 20 25 30
Radius (arcsec)

60 ; E
~ 50" P ]
w | bar
E 40
~ 30 E

E ot :
520 | -
10 |
0. ‘ L ‘ N
0 10 20 30 40
Radius (arcsec)
Q.. AT
FQp & - Fpp -
Qpeloeer ., A(r) : 0.28
rgetl)lo—corr . ATaX -
Quaromy - VI L 405% 05 km/s
rear-ony . Mewm | 42.75 arcsec
(Qparontyyhalo-corr . Vaeum(Rop) © 40.57 X8 km/s
(rear-onlyyhalo-corr . drVseum(0) © 23.97 2 km/s/kpc
Qq(rpa) : 0.307 022 M/M.(<Rg) : 2.17
Qe (r, ) 0.19 a: 6.3kpc
€ ... V_: 92.2km/s
[ T T T T T T T T T T T T T I\ T T T T T T T T T T T L
|
1 -
_— QT |
L - | _
0.6 — Q_r;_alo corr ;
_ Qbar-only : i
=
_ Qbar-only&halo-corr 1 i
T 1
|
: j
|

04+~ [ -
C'}_ : rbar |

|
| j
0.2+ , / \ : —

/ \
/s \ 1
4 - <
(4 ~ N

\ B

P
TN ]

| Sl
0-0 | | | | ‘ | | | | ‘ | | | | ‘ I | | ‘ | \‘\-\_YTT'!-\-——
0 5 10 15 20 25 30

Radius (arcsec)



